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A. Electronic devices that perform only one operation can be programmable device.
B. Logic devices provide timing and control operations function

C. Internet is example of network which connect millions of people

D. None

Which of the following file type has self-describing structure?

A. XML C. PDF file

D. NO-SQL database

B. SQL databases

Which of th lowing characteristics of big data indicates data in uncertainty due to data

istency and ambiguily?
. Velocity C, Variety

B. Volume D. veracity

performed by expert annotators that are responsible for improving the
ibility and quality of data.

. Data Acquisition C. Data Curation

B. Data Analysis D. Data Storage

work that allows for the distributed processing of large datasets

15 a fra

computers using simple programming models.
D. API 5
E. None

{

C. Big data

Which techkfiique in big data life cycle is used to transfer data from various sources to

A, Processing C. Analysing
B, Ingesting D. Visualizing

Which one of the following is not true about cluster computing?

A. Tt is economical C. It is flexible
B. It is scalable D, It is rigid
10. Chatbots and Roboadvisors are best example for.
A. Context aware and Retention C. Rule based Systems
B, Domain — Specific Expertise D. Reasoning Machines

11. Which one is NOT application of Al?
A, Recommendation

B. Snap chat
2. Which of the following statement is not true?
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A, The mos

B,

v,
common and currently available Al is Narrow Al

© MOost common uses of Al today fit Rule-Based Systems level

— General Al is still under research

D. self-driving car is an example of General Al

13. Which one is different?

A, Super intelligence C. Useful for risky area
B. High accuracy with less failure D. Digital assistance

14. Which of the following is not an example of reactive machine?

A. Deep Blue C. Self-driving cars

B. AlphaGo D. None
5. In mapping human thinking to Al components, which layer is related to taking action or
making decisions;
A. Sensing C,. Interpreting

B. Interacting D. Observing

Part ITI: Write precise and clear answers for the following questions.

1) Write at least four advanced technologis /i'gurrh industrial revolution? (2 pt.)
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2) Briefly explain data types from data analytics perspective; provide examples for each of

them. (3pts.)
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BAHIR DAR INSTITUTE OF TECHNOLOGY
FACULTY OF COMPUTING
Introduction to Emerging Technologies Mid Exam
Total mark: 30% | Time allowed: 1hr 20 Minutes | Date: June 27,2022 | Target group: 1st Year Students

General Instruction

= Switch off your phone.

=  Write your answer on the space provided only.
= Write an appropriate answer for each question precisely and concisely.
=  Atten fnm other students is prohibited.
)

™ o

Name —

Part I: Write- E if the answer is correct or FALSE if the answer is incorrect (each

——

1pt

nitored by computer-based

A gybier-physical system is a mechanism that is controlled or mo

algorithms, t1 integrated with the Internet and its users. =
as gestures have gained increasing attention as they

Now g, natural user interfaces such

low machines to control humans through natural and intuitive behaviours.
rantec RDBMS transactions provide flexibility with regard

The ACID properties that gua
to schema changes.and the perfo
Gw. making them suitable for big data SCenarios.
neral Intelligence is the ability of an Al agent to learn, [perceive,

rmance and fault tolerance when data volupaes and k

il

netion beyond human being, =
puting provide varying levels of fault tolerance to prevent hardware and

C. Hand phone

. Steam power

g. Internet D, Electrical power
9 Which one of the following is not the goal of HCI?
A. Improve the interaction between C. saveti
‘ human and computer on

B, promote uncertainty
 Which of the following statement is not true?
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€ statement is true and FALSE if the statement is false on the

Lexamples of limited memory Al type

do not have feelings, they can make any kind of emotional attachment

plications to work with thousands of nodes and petabyies of data

sost-effective manner.

S photo from your phone and see details like the size, type,

L, -

ate. these sets of description of the photo are cons:dered

’ = i
b B e
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SRy - iy %
i
. w
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. 4 1
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Lt J “t result of industrnial revolution
)
mswer among the given alternatives and write the letter of

-

L
following is truc about the term emerging technology?

st 5
n generally uscd to describe a new technology.
%0 the continuing development of an existing

8 o technologies that are expected to be

lich decisions and actions are based.

D. Techmlqy



E. None
ke following is the ultimate goal of dats science ?
and insights from structure

d, semi
thms for creating expert sysie

Blligence in machines

-Structured and unstructured data
ms

lytics point of view, which of the following is not true abou

MSE in some organized manner like Excel, SQL database

ied manner like Audio, Video or No SOL database

and machine requires an interface. And, the

0ice recognition

10 transtfer data from RDBMS 10 HDFS in 2

ap Roduce D. Pig

of beliels, intentions, know ledge
humans and other Machines”
ASpecific Fxpertise
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PART II: FILL THE BLANK SPACE (4 pts.)

| 'he active management of data over its life cycle 1o ensure 1t meets the necessary data
quality requurements for 11s cllective usage 15 called
. used 10 store a combination of characters and numbers
3. Artificial Intelligence system is composed of and e
4 enable software components to communicate with each other casily

PART III: MATCHING (5 pts.)

PART IV: ANSWER THE ¥ OLLOWIN

1.

! a. ELIZA o

1. Data Processing | A T
2. Data Storage '. b, HDFS _
} Xa 3. Data Access '|| ¢. Cloudera search <

B 4. First Al chat bot |I d. Meta da};.-. . ;
s 1 8 yr
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introduction to Emerging Technologies Mid Exam
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Gieniernl Instruction

& Wine an appropriate answer for each question precisely and concisely on the separats
At LA | -.'_I"."|
* Any Kind of chesting will nullity your result

*  Switeh off vour cell phone before starting the exam

Fart 1 Choose the correct answer from the given alternatives (1.5 pts. each)
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Which one of the following s not advantage of Big Data?
A
H

i P, | ]
Prucessing massive amounts of data C. Handling & variety of dat:
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hetter and faster decisions

Al monetary joses

4 t\ﬁ) o of the Tollowing s o

;-, lu A, Data science enables you (o take

“':; Y B. Data science has abihity 1© prevent significa

L.‘_L.l"- '|.\_

ir 'i.- II

— o €. Data science allows 10 bulld intelligence ability |

{FE d machi
vaud using advance

(= o lll Data Science can help you to detect |

ﬂ:” =

only

machines
ne learning

&.. Plan some surgical operation B, Adapting to the environment and situalions

55 - G, Real Lite Problem Solving D, To rule over humans
| ﬂi" & m one of the following mmn'mnt s not correct about the concept of Emergmg

--&a New technologies that are currently developing which will ensure that there is
minimal impact on our environment and to make society a better place to live.

B, New technologies that are currently developing which will ensure that expected w0
create significant impact on our environment and to make society a better place 1o
live.

C. New technologies that are currently developing or will be developed over the next
five 1o ten years, and which will substantially alter the business and socisl

environment,

D. New technologies that are continues development of an already existing technology
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D). Data Storage L. Data Curation

0. Which type of A) refers to machines that pecform any ini

a human?
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(3 Points)
1. What is humar ’ Pruter iy W
computers” (3 Polnis
.\ List and explain basic components of d " -
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is 10 improve the interaction be een users and com y g
w l
: : puters by makin
COmputers more user-friendly and receptive to the user's needs.

Internet is a collection of computers, servers, ne
1o one another to allow the sharing of data.
Clustered computing is a framework that allows for the distributed processing of large
datasets across clusters of computers using simple programming models.

twork devices or other devices connected

“Information Technology™ is an example of

A. Primary Industry C. Tertiary Industry
B. Secondary Industry D. Quaternary Industry
All of the following are Service Enabling Devices except
A. Modems C. Switches
B. Routers D. Hadoop
One of the following is the major invention of industrial revolution (IR 3.0).
A. Internet C. Electrical Power

B. Steam Engine D. Automated Robots
Which benefits of a big-data clustering software makes easy to add additional machines
to the group of cluster without expanding the physical resources f:m a machine.

A. Available C. Flexible

B. Scalable - D. Reliable e
Which component of Hadoop is used for programming based Data Processing

A. HIVE C. MapReduce

B. Spark MLLib D. Uﬂm:: e
Information that either does not have a predefined data model or is not organized

d manner is called ok
percapiiels Sttt C. Structured Data
data before it put in a data

ering, filtering, and cleaning
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t ord
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INPUT ?‘ INPUT 5 outpyT
D. ouTtpyy EE:&{:-.;;:, > OUTPUT

10,

e O

ch Data §
11 lorage
- A re re i D. Data
Presentation of facts, or inslmctiuns ina formalized . Wiy,
1 manner, which sho
’ uld be

suitable for inte i
rpretation, or Processing, by human or electronic machines |
nes is called

A, Data
12. All e S,
: of the followin . D. Data warcho
g are the specific functi ' ; 5.5
Aoy e ons of Logic Dé“:-E except .
B. Data communication D b;?;i‘f;:“;ﬁ
: < ve

13. The persi
[ p r:::lstence and rr]anagr:ment of data in a scalable way that satisfies the needs of
applications that require fast access 1o the data is known as

A. D
2 ata Stnragf.: C. Data Acquisition
. Data Analysis D. Data Curation
14. Electrical power and telephones are introduced during industrial revolution(IR)
A. IR 1.0 C. IR30
B. IR2.0 D. IR4.0

Which of the following is not true about the second industrial revolution?

15.
A. Industries such as textile manufacturing, mining and glass making all had

undergone changes.
The development of methods for manufacturing interchangeable parts

B.
Widespread adoption of pre-existing technological systems such as telegraph and

C.

railroad networks ‘
The mass production and widespread use of digital logic circuits and its derived

technologies such as the computer

is the input, or what you tell the computer to do or save.

I intended to make interaction with big data easier.
as a series of steps needed

is an open-source framewor

I |
3 describe the information flow within a big data sysiem

to generate value and useful insights from data. Rt i
4 defines the operations that can be done on the data, the m

the way values of that type can be stored.

3
ab
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¥ "'-.\1 ‘hat arc the main compo

" processin b b rnvs  Selale Universit

A Evolutionary - incre mental and takes place gradually, over time.
j:l | J';x olutionary - incremental in that it happens step by step, little by Jitile
L- ;,_It'\ olutionary changc 15 L":"-—.I" and {‘h‘lﬂ!-"” 18 'u"ddnhm'll dr""””“": and often |

All are correcl

.7/ ”]L final or main cause of the Industrial Revolution was the effects created by

& A!:”Lu“uml Revolution C. machine leaming
rise of digital technology D. Smart & autonomous systems
vhich Industrial Revolution (IR) increasing use of steam power and ise

thgee is als
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nents of Data value Chain in data Science?

IITeversible
e

fueled by data
of the factory

_fn oy

sysiem

~1R 1.0 C. IR3.0
B. IR2.0 D. IR 4.0
9, is the re-structuring or re-ordering of data by people or machines

10 Increase their

usefulness and add values for a particular purpose
ﬁq"‘ﬂﬂlﬂ value chain C. Data Processing Cycle
B. Data curation D. Data Acquisition
10. Which data type in computer programming perspective 1s used to store real numbers
A. :Eer(int} C. Floating-point number(float)
Boolean(bool) D. Alphanumeric string(string)
 Which of the following is not character of big data?
olume C. Veracity

B. Velocity D. None

12. : refers to the communication and interaction between a human and a
machine vid a user interface.
Human machine interaction C. Human computer interface

B. Programmable devices D. A&C
is the process of gathering, filtering, and cleaning data before it put

in a data warehouse,
A. Data acquisition C. Data access
B. Data curation

. _ﬁ'.'.'.
A



the planks with ﬂppmpn'a te word

, pue I
an insights from structured, semi-structurcd an
nal information about a specific sel of data.

Sl 15 dwbdiit data that provides additio
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d to execute software

1) EEJDMCEJ Funl.;nﬂ
2) High Avaltabil~td :
3) EasY ccolabolitd

% There
owe Three(3) tapes o Data @ Y4

:) Mmﬂ-'-wd Mﬂ,.
¢ wS50L date bASE
¥ Excel S exv v CE
%) Unotuctured Aoteo-
e-5 TpoM=oudl |
5 LML = File o) dod
lu-) SﬁMﬂ - S¢ruckur ﬂiﬂt. ata W A Y (1 r
wa o TSON < dali O e
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Hawassa Uiniversity, Institute of Technology

Iintroduction of Emerging Technology 'Test

Iest
Foiband Mo les: 20
Time allowed 1
W - [1h M) —
b = By
Ipsiruclions,
|..r o <iire Vo AT L ' iy { |1_n{ | tital al 1.0 LI:}‘.--_'T”-,”._ :
heatiag i strictly fortidden and will result zero marh -l
ko . t
Part I: Matching .
A
B
A Integes
- o H. Camera, Microphone eie,
C. Agent and environment
- D. Muodel Building
E. Cyber Physical System |
\
F. Data about Data
(. Web log
H. Insights of information
I. Data visualization
|. Data preparation angd
Part Il: Short Answer and discussion!!!
CUS hy data scientists needs to be an expert in Mathe
.' >nce even if they are from a different specific domain:

\V in Rig Data?
in Big Data

Answer Sheet

Bl
L)
&

data value chain and associated activities,

scuss Data Science application in the realm of health care and ms

ita processing? List and Explain stages of data processin



1 UTTELt Al raise i (0e sl&

2 cach )

\ -:”h: AFSt step in Big Data Life Cycle with Hadoop is data acquisition.
- _mat\ur Cable s the most mmportant mventions of 1R used for communicatipg
. EN P meeds ;_}FJ‘:. powerful COmp-Eef for data prﬂr-:e-ssing.

Purt I Choose the correct snswer among the given alternatives. (1.5Pt each)

The active management of data over its life cycle o ensure it meets the necessary dam
quality reguirements for its effective usage.

A. Data Curation C. Data Usage
B. Daia Acquisition D). Dara Analysis

-

I. A= that describes the information flow within a big dala system as a series of
seeps newded to generate value and useful insights from data.

& Data e Hﬂdﬂ'“f"
B. Duta value chain D. Clustered computing
3. An stisibute of dasa that tells the compiler how the programmer intends to use the
.
A. Unstroctured data C. Big Data 4
B. Meta daia 0. None _
L Wﬁhkhmmﬂﬁsmh@hwmdmmpuutimﬂm&hdgdﬂﬂ
A Cloud computing (. Block chain
: 0. HEl
B. Clhastered computing - -
5 ﬂﬂuﬂwlphﬂ{ﬁinymﬁmﬂ}aﬂdﬂdﬂﬁlslﬂ:ii&hr}pﬁﬂddmmnbﬂim t
. A, Soructured data C. Semi-structured
h. Meta dam D. Unstructured
- ¥ } 1
6. Which one of the following statement Is (rae: : s _
ik A_ The primary indusry involves getting raw materials e.g farming, and fishing.

B The quaternary indusiry invelves manufacturing €.g. making mxnd steel.
€. The secondary industry provides & service e.g. teaching and nursing. .
D. Teriary industries involves rescarch and development industries e.g. 1T

2. A devices that provide specific functions, including device-to-devics interficing, data

" communication, signal processing and data display. : 3
hmw'm .1;:- g, B :
B Logic Devices . Memory Devices b

& wWhichoncofthe following data file s an Example of Structured data?
i d ﬁ-_. m L S s {;w“‘
BSON Zaiaus oy DBl
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ency like 3 human
answer for the ﬁ}ﬂﬂwing Questions,
“the followin

. £ IS not Sample application of Comm uting?

Smart Email Calegc:-ﬁzatiun C. Google's AJ

B. Ridesharfng Apps Like Uber and ‘
Lyt

0. Commercia
. Autopilot
2. All of the fuliﬂwmg are influencers of artificig] intelligence except
ativity

n

Sing speed and NEW chip architecryres
. Structured data YETSUS unstructyred data
D. None

3.  Which one of
A,

Powered Predictions
Flights se an Aj
A. No Original Cre

B. ﬂdvanumnﬂntﬁ 1

the following is characteristics of theory of mind Al type?
It should understand hun

1an emotions. People, beliefs, and be able 1o interact socially [ike
humans.

B. Itisthe future of Artificial Intelligence.

C. Such machines will be more intelligent than the hym:
D. It can store past ¢

Xperiences or some data for a short period of time. - 4
4. One of the following isn't somehow the advantage of artificig] intelligence.
A. High Accuracy with fewer errors

B. Useful for risky areas. :
C. AI machines are highly reliable and ca
several times. .
n machines, :
D. Increase dEPE"d?nW- ? im of artificial intellipence?
: f the following is not the aii Biidl el e
R e e cyber-attack via an artificial intelligence alg
ut a 7
A. Tocaryo : : et
. telligence i e infelligence
B. Replicate huma;:l in whl!f:h can perform tasks that requires human int
ilding a machine
. Building

n perform the same activity with great precision

D, AandC . D. All
Intelligence is ”_mde : E. All except C

B. Problem Sn]vi_nlg

C1 Linguisticﬂhnht:f

fter :}fﬂu use social media
i A, Struc

rt of data are you making?

d give comments b C. Semi Smﬂ!
an
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I r\:\ddig Ababa University
: QPR SSaaral and Computational Sciences e
[ntroduction to Emerging Technolygies (EmTel011) for Social Scien

Mid-term exam (gotal point 30%) 53, 2019

pDate: fofmb" " 1hr

pane alioteds A5

Name Id Sectiop® ——

' —_Id no.: e - yared
I s | Art |

Select campus/school: €55 | CHLSIC | CEBS |cpE-FBE ;CEE-Cammerr:e || s v

; rrs. ru & .
General instruction: The exam conlains tot@ of 30 questions medefj::e:f:::f f:daf the bottom of page

choice, and short answer. All answers should be wriyen on the answer
3. Switch-off mobile phone.

Part I: True or False (1 pt each)
1. When move from the cloud back to on- tces it i oud lﬂ'—"”"ﬂm :
apps on-premises it ) es casily

2. Data curation involves key activities concerned wit
accessible, discoverable and fit for purpose.
3. Real-time processing is most useful when dealing
computation.
4. Sophia has been designed by Ethiopian Engineers and is an example of limited memory Al type. [~
j Self-driving cars are example of reactive machines artificial intelligence. ‘_"

with very large

Part I1: Multiple Choice (1 pt each)
1. Which of the followine s regarded as smart revolution”
. a. Information revolution ¢. Industrial revolution (Second revolution)
d. Knowledge revolution

a b. Agriculture revolution

B 1& ‘Which of the following factor is not considered as a driver of information revolution?
" a. The growth of information-based occupation

b. The invention artificial intelligence
of cheap personal computers

c. The
~ d. The advent of the Intemc!

Sy

-

.ﬂ——-



d Problems All cap pe
and accident in USA
A nuclear meltdown ace;

Accidents in aviation {
d. Explanatiop of Chabo

c.

is

9. Allare Characteristics thaf determine the quality of infgnnmnm ——
a, Tirn.»;-,l:u,r
b. Accuracy
€. Completeness

10. The £oal of most big data systemsis £ .‘. .

2. To save cost : ;": :murﬁcmﬂww. b
0 reduce complexity ;

ils I =

L. If You select one photo in your phone and see details like the size

Captured date, this s

type, location, and img,
a. an integgr data

12. Which of the following is wrong about m
. o A data type s ’“%“‘“’-’f‘mnﬁm ers,

b. A data type is about the structure of

€. A datatype is the

ol




— fequire ellj
favigation dlong y, ith Sub-p blunil-tgenue ‘0 handle tag) Such as object Manipulation and
4. Mac ine fﬂarmng Sof Calization Motion Planning and mapping,
b. Robotjcs C. Virtua] reality
d. Augmented reality
7. The 5t ¢ :
: nms} “OMmmon ang Clrrent]y available A system is
. Genera| Intelligence X TG -
arrow Ingel] €. Super Intelligence
I gence d. Theory of Mind
18, Which of the follnwing does not heiung fo components of Al system?
4. Models C. Hardware
b. Data d. Programming languages
19 Which of the m”c,wjng Al system has beaten the world’s Chess champion?
Deep Blue d. Watson
e . iculture sector, mALCRE. .
20. All are gﬂ applications in the SioiE ¢. Crop and Soj] Monitoring
ab. :: Eésfg;%} ?)UIRJELDWS d. IBM Watsopn analysis
Part Iny;

Short Answer (1 pt each)

- I L ] ion of intera
- S ith the design, evaluation and 'mPfﬂmentanu_n o
. ———__ISadiscip]ine concmedd‘:,iﬂl the study of major phennmena Surrounding tﬁcn?_ .
Computing Systems for human :5_'-‘? a:w analyze, understand and Manipulate images and video js
+ A technology thay enable machine

ineering of making machines to think and act human ?;_
i an
Mﬁgm Processing are

Ctive

g

5. The “three Vs, of big data” are _

, and

Answer Sheet for Part I and Part I1




